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for the questior'zs

“NFA is mare powerful than 2 DFA.”
State True or False.

Write the regular expression to
represent the set of all strings over @
and b starting with @ and ending with
ab. -

What is a derivation tree?
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2. (a)

(b)

(2)

“A final state is called an accepting
state.” State True or False. 1

Consider the DFA given by the

. transition taple below
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States Input

a b
b
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9 93 9
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( 3)

- : A with
truct an equivalent DF

Cons o

reduced states.

machine
struct @ MoorZIy machine
(iii) Cosivalent to the Me ‘
e ) :
ggren below :

. ve an,
: recursive if we ha

X . rmine whether a given
«p set o w

- @ i dete | e
3. (a) algol'lﬂ::n;:lzngs to X or not.” State -

elemen ‘
e a grammar G to generate the )
) Cons:'r:l‘itpalindromes over {a, b}. ]

e i ar.

N the formal definition of a gramm

(c Give ( -
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Q7

(5)
( 4 ) R n system
transitio ression
: . ct a ar exp.
from the §, llowing : . () Coniit:l‘:nt to the regul
e fo : u .
(d) Answer Y fwo from 5x2=10 , eiyen below :
- . gt a)‘ (aa + b)
() Explain Chomsky hierarchy, (ab + ‘ sion
. res
" (ii) Consider the grammar g gven by regular exitomata
"~ S-o0s4p §-012, 24 =42, (i) Find the to the @
lAl 11, spondmg
corre .
Test whethe, 001122¢ L(@G). Also given below :
aw the finjte automatg ¢, accept

(i Construct

4. (a) “Ais g regular eacpression.” State True
or Falge,

1 _
is
) Prove that free  languag® 1
-fre e.
A +1‘(011)*(1‘(011)*)‘ =(L+o1y 2 |8 g “Every c°nt€XtTrue or Fels
Tecursive.” State ar
. © Represe.nt the folloWing Sets by regular \ ®)  Show that the grammas/ A 2
- ‘€Xpressiong . 2 asbs [ bS
- (l')rl{a""‘lnél} N~
@) g2+ y Inzgj | s recursive: enerate 2
(d)  An 3 ) . ' (c) Write a CFG to & >n}
| SWer any two from the follong : ' ' L={a"b" |m=
. Sx2=10 -
@ Proye that 1 . (n Inis Prime} g |
not re'gula,r.

lqp
{ Contin.. 5 .



(6)
(d) Answer any two from the following
5)(2""10
() Convert the following CrG to

6. (g

(b)

Chomsky normal form -
S—aB|ba
A-—>a|aS|bAA

B b|bS|aBB
(i) Reduce the fo

Greibach Normal form
S=40, 408, B, 49 g -1
(ii)) show that the language
{a"2 n> 1} |

is not context-free,

Describe In English, language, the sets
TePresented the fdllowi.ng regular
€Xpression

@ (aa + bbh)*

@) a*p 4 pr

lowing grammar to .

1

g ¢
. (7)

wing :_
r any two from the follo 5x2=10
(d) Answe

accepting
truct a FPDA and wX is
() Construct |wisin 011
L = {wew

the reverse of W}

accepting
struct a FPDA
(i) fon{'azncb" jnz1} ¢ to the
—1 . n
truct a PDA equivale ‘
jii) Cons ar :
(lll) fonoWing graml'n
* Kk %
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